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Un mini 6.50 au planing (mai 2013) 



Septembre 2013, finale de la 34ème coupe de l’América 



 
1) Plus lourd que l’eau peut-il flotter ?  Archimède 

2) Naviguer contre le vent ? Bernoulli 
 
3) Plus vite que le vent ? Lanchester 
 
4) Quelle est la vitesse limite ? 
 Froude, Kelvin 
 

 
Quelques questions … 

Quelques évidences et quelques paradoxes 
 



Archimède de Syracuse 
 Grec (-287 ; -212)  

La poussée d’Archimède 

1) Plus lourd que l’eau ? 

Bateau de granit (Jean-Yves Menez) 



Naufrage du Vasa en 1628 
 devant Stockholm après avoir 
navigué … 1 mille nautique 

1) Plus lourd que l’eau ? 

Mais flotter ne suffit pas ! 



1) Plus lourd que l’eau ? 

Où est le centre de gravité ? 



1) Plus lourd que l’eau ? 

Condition d’un équilibre stable ? 



Stabilité de poids ou de forme ? 

Class America … (2007) 
20 tonnes de lest pour 24 tonnes ! 
5 m de tirant d’eau, 4 m de largeur ! 
 

Trimaran BMW Oracle (2010) 
27 m de large, poids 3,5 tonnes ? 

1) Plus lourd que l’eau ? 



2) Naviguer contre le vent ? 

-  Navigation en poussée 
(écoulement décollé) 

-  Navigation en finesse 
(écoulement laminaire) 

Le Belem 

Pen Duick 



Ecoulement laminaire 

Ecoulement décollé 



2) Naviguer contre le vent ? 

Daniel Bernoulli (1700-1782) 
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La polaire « Eiffel » CL=f(CD) 

2) Naviguer contre le vent ? 

Gustave Eiffel 
(1832-1923) 

Navigation « au près » 
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2) Naviguer contre le vent ? 

Equilibre aéro/hydro (ici 2D) : 
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Les polaires de  
vitesse 

(VPP ou mesurées) 

2) Naviguer contre le vent ? 

-  fonction du jeu de voile,  
-  de la force du vent 
-  de l’état de la mer 

Permet de prédire le VMG 
(Velocity Made Good) dans toutes 
les directions. 

Similitude avec la croissance des cristaux 
(enveloppe convexe, construction de Wulff) et le 
Principe de Fermat (routage) ! 



Face au vent…est-ce possible ? 

2) Naviguer contre le vent ? 



2) Naviguer contre le vent ? 

Sur terre… oui ! 

Racing Aeolus  
(Den Helder, Netherlands) 



Face au vent…est-ce possible ? 

2) Naviguer contre le vent ? 

w -

Fig. 1. Sketch of a boat which supports a shaft with a propeller on each 
end. One propeller, of swept-out area At. is located in the air and the other 
propeller, of area A 2, is located below the water surface. Both propellers 
are assumed to be far enough from the water surface so that its effect can 
be ignored. The speed of the air far upstream of the boat is W. The speed 
of the water immediate) y downstream of A2 is V, where Vis due to the 
effects of A 2• p1 and p 2 are the densities of air and water, respectively. 

to kinetic energy of the water with 100% efficiency. This 
is not inconsistent with the 59% efficiency of an ideal 
windmill, as it refers to a different problem. 

The net forward thrust F 2 - F w is given by subtracting 
Eq. (6) from Eq. (9) and rearranging the resulting expres-
sion, tha t is 

This expression for F net assumes that both propellers op-
era te at their maximum possible efficiencies and that there 
are no energy !osses in the coupling shaft. 1t also neglects 
wind-drag forces on the hull and superstructure of the boat. 
Even for these ideal conditions we see from Eq. (10) that 
the net force will be positive only if P2AvptA1 1/2. 

The essential qualitative explanation of why the boat 
moves forward cao be seen from Eq. ( 1 0). 1t clearly depends 
on the way in which the kinetic energy extracted from the 
air is added to the water. If the streamtube is narrow (p2A2 
« p 1A 1) the momentum in the water jet will be less than 
that extracted form the air and the boat would move 
backwards. On the other band, if P2A 2 » p 1 A 1 the mo-
men tu rn in the water jet is larger than that extracted from 
the air and a net forward force results. This is analogous to 
the situation oftwo masses having the same kinetic energy, 
whereas the heavier mass bas the largest momentum. 

C. Ultimate speed 
We now consider the situation where the boat is allowed 

to move forward, with the aim of calcula ting the ultimate 
speed u. It is convenient to use a reference frame attached 
to the boat. The power extracted from the wind by the 
propeller A 1 will theo be given by 

P'w = (8/27)PtA t(W + u)3, (il) 

where a = IIJ was used in Eq. (7) and the effective wind felt 
by the boat is W + u rather than W. Similarly, the force on 
the propeller A 1 is given by 

F'w= (4f9)ptAt(W+ u)2. (12) 
The water propeller A2 now sees an effective upstream 

speed equal tou, a relative water speed at the propeller of 
u + V and a downstream speed equal tou +V.,. Applying 
arguments similar to those in Sec. II A, one still finds that 
V., = 2 V. By anal ogy with Eq. ( 4 ), the thrust produced by 
A2 cao theo be written 

lOOS Am. J. Phys., Vol. 46, No. 10, October 1978 

F; =(Ij2)p2A2[(V., + u)2 - u 2] = 2p2A2(u +V) V. 
(13) 

The force adds kinetic energy to the water at the rate 
Fi(u + V) and if we again assume that the propeller A2 is 
100% efficient theo we have, from Eqs. (11) and ( 13) 

(u +V)= 2p2A2(u + V)2V= (%,)PtAt(W+ u)3. 
(14) 

At the ultimate speed u all forces on the boat must balance, 
i.e., 

1 1 0 F 2 -Fw-Fn= , (15) 

where 

(16) 

is the drag force4 of the water against the hull. Ao is the 
effective frontal area of the hull and C0 is the drag coeffi-
cient. Substituting Eqs. (12), (14), and (16) into Eq. (15) 
theo gives 

(s/z,)pt At(W+ u)3- (4')p A (W+ u)2 
(V+ u) t9 1 1 . 

-('/])p2A 0 C0 u 2 =O. (17) 

Equations (14) and (17) represent two equations for the 
unknowns u and V, which must be solved simultaneously. 
The general solution is very messy algebraically it is 
perhaps more instructive to look at sorne parttcular 
cases. 

First, consider the case where the drag coefficient Cois 
zero, as this will yield the maximum possible value of u. 
With this assumption, Eqs. (14) and (17) yield 

(18) 

and 

(19) 

ln the limit p2A"l}p 1A 1 » 1, u = 2W and V« u. That is, 
the maximum possible upwind speed of the deviee is equal 
to twice the wind speed. On the other band, the maximum 
downwind speed under the same conditions would be equal 
to the wind speed, as one cao easily show from Eqs. ( 14) and 
( 17) with appropria te sign changes. 

The performance of an actual deviee will be reduced 
below the maximum value, u = 2W, by (a) nonzero drag 
coefficients, (b) smaller values of the parameter P2A2/ Pt At. 
and (c) propeller inefficiency. For example, if one chooses 
A 1 = 1r m2, A2 = 0.2 m2,A0 = 0.1 m2, C0 = 0.2, P2 = 1000 
kgjm3, and p 1 = 1.20 kgjm3, theo one finds from Eqs. (14) 
and (17), that u = 0.56 W and V = 0.034 W. If propeller 

Fig. 2. Sketch of a propeller of swept-out area At. immersed in a flowing 
fluid. The dashed li nes depict the streamtube of the fluid which is actually 
intercepted by the propeller disk. The labeled quanti ti es are defined in the 
text as needed. 

B. L. Blackford lOOS 

B. Blackford. The physics of a push-me pull-you boat. Am. J. Phys, 46 (10), 1978. 

Sur l’eau aussi … 



Face au vent…est-ce possible ? 

2) Naviguer contre le vent ? 



3) Plus vite que le vent ? 

-  Peut-on aller plus vite que le vent ? 

-  Combien de fois la vitesse du vent ? 

-  Peut-on aller dans le sens du vent …
plus vite que le vent (DDWFTTW) ? 



3) Plus vite que le vent ? 

-  Peut-on aller plus vite que le vent ? 

Les aéroplages de Blériot : 100 km/h vers 1910  



Vent réel ou apparent ? 

3) Plus vite que le vent ? 

€ 

X =
VS

VT

=> Un voilier rapide navigue toujours près du vent (apparent). 



3) Plus vite que le vent ? 

€ 

X =
VS

VT

Xmax =
1

sin βmin( )

γ opt = 90° + βmin

Théorème de Lanchester (1907) 

Frederick William Lanchester 
 (1868-1946) 

€ 

β = ε a +ε h

Ex : 

€ 

X = 3⇒ β ≈ 20°, f ~ 6
X = 5⇒ β ≈11°, f ~ 12



3) Plus vite que le vent ? 

 
-  Peut-on aller dans le sens du vent …
plus vite que le vent (DDWFTTW) ? 



A haute vitesse, le vent vient toujours de devant 



Directly downwind, faster than the wind (DDWFTTW) 

Blackbird, juillet 2010, record à 2.8 fois la vitesse du vent. 



4) Quelle est la vitesse limite ? 

-  Vitesse limite de coque ? 

-  Phénomène de cavitation ? 

-  jusqu’où ira-t-on ? 



-   Ondes de gravité 

-  Résistance de vague : 

Résistance de vague 

€ 

Rw =
1
2
ρV 2B2Cw

€ 

αmax =19,5°

4) Quelle est la vitesse limite ? 

La vitesse limite de coque ? 

Lord Kelvin 
(William Thomson) 

1824-1907 



l ≈ L Vlim =
gL
2π

Vitesse limite de coque en « déplacement » 

4) Quelle est la vitesse limite ? 

William Froude 
 (1810-1878) 

La résistance de vague augmente très rapidement avec  l / L  

Fr = U
gL



Alain Colas sur Club Méditerranée (72 m de long, Transat anglaise en 1976) 

4) Quelle est la vitesse limite ? 



Coque à déplacement  
à sa vitesse limite de coque 

(Fr ≈ 0.5) 

Coque planante 
Bateau de la mini-transat au 

planing (Fr > 1) 

4) Quelle est la vitesse limite ? 



Les formes  
changent ! 



Magnum,  David Raison 



Safran Sailing Team,  Morgan Lagravière 



Source : World Sailing Speed  
Record Council 

Evolution des  
records 

 de vitesse  
(sur 500 m) 

4) Quelle est la vitesse limite ? 

1 nœud = 1 mille marin/heure 
 =1,852 km/h 



Les records de vitesse 
 (sur 500 m) 

•  Planche à voile : 49,09 N (2008) 

•  Kite surf : 50,98 N (16 nov 2009) 

•  Hydroptère : 51,36 N (5 sept 2009) 

•  Kit surf : 55,65 N (28 oct 2010) 
   soit plus de 103 km/h … 

 
•  SailRocket 2 : 65,45 N (24 nov 2012) 

   soit plus de 121 km/h … 

4) Quelle est la vitesse limite ? 



Sailrocket 2 



Nouveau record du monde de vitesse à la voile ! 
 121 km/h  ! 



Cavitation ou ventilation 

€ 

A 50 Noeuds,    
1
2
ρeauVS

2 ≈ 3Patm

4) Quelle est la vitesse limite ? 

Foils supercavitants 



Les autres records à la voile 

 
Char à voile : 202,9 km/h (mars 2009) 
http://www.greenbird.co.uk/ 

De 4 à 6 fois  
plus vite que le vent réel ! 

4) Quelle est la vitesse limite ? 

€ 

β = ε a +ε h ≈ ε a ≈10°



Quelques pistes … 
 
•  Matériaux (coque et voiles) ? 
•  Attendre d’avoir plus de vent ? Non 
•  Augmenter la surface de voile ? 
•  Sortir de l’eau ? 
•  Voile rigide ? 
•  Eoliennes ? 
•  Voiles dynamiques (Kite) ? 

Et pour aller encore plus vite et plus loin ? 



49er 

Augmenter la surface de voile ? 



BMW Oracle racing 90, avec son aile de 57 mètres ! 

Voile rigide ? 



Sortir de l’eau ? 

L’Hydroptère (Alain Thébault) : record à 51 Nœuds  



Nicolas Parlier 



Team France, AC45, mai 2015 
 
Franck Cammas 



Maman les p'tits bateaux 
Qui vont sur l'eau 

Ont-ils des jambes? 
Mais oui, mon gros bêta 

S'ils n'en avaient pas 
Ils ne march'raient pas. 

  
Allant droit devant eux, 

Ils font le tour du monde, 
Mais comme la Terre est ronde, 

Ils reviennent chez eux. 
  

Maman les p'tits bateaux 
Qui vont sur l'eau 
Ont-ils une âme? 

Mais oui, mon gros bêta 
S'ils n'en avaient pas 

Ils n'voyageraient pas. 
… 


